B TETEE X

[Option ID = 399]
4. Major Rock Edict - XTI

[Option ID = 400]

Topic:- 11_GP_SH1_S1_A

D The following table shows the percentage (%) brealk-up of the employees working in =ix
different universities A. B. C., D. E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the
guestions :

University- wizse Distribution of Emplovees
Percentage

University | Total Number of Emplovees | Males | Females | Transgenders

A 2400 50% 57.0% 12.5%

B 4375 40% 36% 24%

LB 2625 24% Hh6% 20%

D 6000 35% 256% 40%
| E . 4250 38% 30%. 32%
| F | 1360 45% 40% 15%

FefatEs @ifer 5 27 v fEvaemem A, B, C, D, E it F ® 5/ FA=nal w1 Taea (%) @

wEivE | Wi ZE HrataaeEl § St S T a9 oailee | 4 8| A 4 159 W |5ESl R
ST qvT 1-5 F I 510

IR

rFalEed | FRATRA] i T A | 95 | ’iEdl | ZEEs
A 2400 50% | 37.8% | 12.6%
B 4375 40% | 36% 24%
C 2625 24% | 56% 20%
D 6000 35% | 25% 40%
E 4250 38% | 30% 32%
F 1360 45% | 40% 15%

The number of females working in umiversity F 1s —————— % more than the number of

transgenders working in the University A

r

EyaiaaTed F 0 SFE dieeal = ded) avaiaassa A H i ZEas 5 Oe § i ames (%)

wAew 7 7

[Question ID = 10274][Question Description = 101_00_General_29_0CT22_Q01]
1. 20

[Option ID = 11093]

2. 444

[Option ID = 11094]
1
3. 814

[Option ID = 11095]
4. 180



[Option ID = 11096]

2) The following table shows the percentage (%) brealk-up of the employees working in =ix
different universities A. B. C., D. E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the
guestions :

University- wizse Distribution of Emplovees
Percentage

University | Total Number of Emplovees | Males | Females | Transgenders

A 2400 50% 57.0% 12.5%

B 4375 40% 36% 24%

LB 2625 24% Hh6% 20%

D 6000 35% 256% 40%
| E . 4250 38% 30%. 32%
| F | 1360 45% 40% 15%

FefatEs @ifer 5 27 v fEvaemem A, B, C, D, E it F ® 5/ FA=nal w1 Taea (%) @

wEivE | Wi ZE HrataaeEl § St S T a9 oailee | 4 8| A 4 159 W |5ESl R
ST qvT 1-5 F I 510

WA
rFalEed | FRATRA] i T A | 95 | ’iEdl | ZEEs
A 2400 50% | 37.5% | 12.5%
B 4375 40% | 36% | 24%
c 2625 24% | 56% | 20%
D 6000 30% | 25% | 40%
E 4250 38% | 30% | 32%
¥ 1360 45% | 40% | 15%

The ratio of the number of males working in university D to the number of females working in
university C 1s

fazafaeres D 8 $w w0 F1 deg F w99 fGrafaaem © 8 FE Aol i e F ge 8
BTl

[Question ID = 10275][Question Description = 102_00_General_29_0CT22_Q02]

1. 7:10

[Option ID = 11097]
2 10:7

[Option ID = 11098]
3. 7:5

[Option ID = 11099]
4. 5:7

[Option ID = 11100]



3) The following table shows the percentage (%) break-up of the employees working in =ix

different universities A. B. C. D, E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the
guestions :

University- wize Distribution of Emplovees

Percentage
University | Total Number of Emplovees | Males | Females | Transgenders
A 2400 80% 37.0% 12.5%
B 4375 40% 36% 24%
C 2625 24% H6% 20%
D 6000 35% 25% 40%
| E | 4950 38% 30%. 32%
| F | 1360 45% 40% 15%
FeTAiEs aie § 97 B favaEmee A, B, C, D, E 3 F # FEea Feanal @ Toea (%)

weiia 2| wdi B fralaaerEl § FemiE S T deE 9 oarleee | € 8| e § 59w AwEEl
AW T YT 1-5 F I it

wiAsT
AR | FEAA T o Ol | 9 | Hiedl | ZEaE
A 2400 50% | 37.5% | 12.6%
B 4375 40% | 36% | 24%
C 2625 24% | b56% | 20%
D 6000 3b% | 2h% 40%
E 4250 38% | 30% 32%
F 1360 45% | 40% 15%

The number of transgenders 1s more than 500 in

I 1 g 500 ¥ Al Feiigs 8§ o Fen we et
[Question ID = 10276][Question Description = 103_00_General_29_0CT22_Q03]
1. All the six universities

TH Bz gvaiga—ar 4

[Option ID = 11101]
2. Only three universities

Feet 719 AT

[Option ID = 11102]
3. Only two universities

Fae F] avaraer=al §

[Option ID = 11103]
4. Only four universities

e e M | L =

[Option ID = 11104]



4) The following table shows the percentage (%) break-up of the employees working in =ix

different universities A. B. C. D, E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the

guestions :
University- wize Distribution of Emplovees
Percentage
University | Total Number of Emplovees | Males | Females | Transgenders
A 2400 50% 51.8% 12.5%
B 4375 40% 36% 24%
C 2625 24% H6% 20%
D 6000 35% 256% 40%
| E . 4250 38% 30%. 32%
| F | 1360 45% 40% 15%
FeTAiEs aie § 97 B favaEmee A, B, C, D, E 3 F # FEea Feanal @ Toea (%)

weiia 2| wdi B fralaaerEl § FemiE S T deE 9 oarleee | € 8| e § 59w AwEEl
AW T YT 1-5 F I it

wiAsT
AR | FEAA T o Ol | 9 | Hiedl | ZEaE
A 2400 50% | 37.5% | 12.6%
B 4375 40% | 36% | 24%
C 2625 24% | b56% | 20%
D 6000 3b% | 2h% 40%
E 4250 38% | 30% 32%
F 1360 45% | 40% 15%

If M and N represent the numbers of females working in Universities B and E together. and
the number of males working in umversities C and F together, respectively, then M —N=

7tz B 1t E Tavafae= § = Aieenal $1 den F meee 90 C am F favafanem 7 Fema 5
1 v w e s MEE NS = g s 2. @1 M—N=

[Question ID = 10277][Question Description = 104_00_General_29_0CT22_Q04]
1. 1608

[Option ID = 11105]
2. 1512

[Option ID = 11106]
3. 1414

[Option ID = 11107]
4. 1710

[Option ID = 11108]



%) The following table shows the percentage (%) break-up of the employees working in =ix

different universities A. B. C. D, E. and F. The total number of employees in these six
Universities 18 also given in the tahble. Based on the data in the table. answer the
guestions :

University- wize Distribution of Emplovees

Percentage
University | Total Number of Emplovees | Males | Females | Transgenders
A 2400 80% 37.0% 12.5%
B 4375 40% 36% 24%
C 2625 24% H6% 20%
D 6000 35% 25% 40%
| E | 4950 38% 30%. 32%
| F | 1360 45% 40% 15%
FeTAiEs aie § 97 B favaEmee A, B, C, D, E 3 F # FEea Feanal @ Toea (%)

weiia 2| wdi B fralaaerEl § FemiE S T deE 9 oarleee | € 8| e § 59w AwEEl
AW T YT 1-5 F I it

wiAsT
AR | FEAA T o Ol | 9 | Hiedl | ZEaE
A 2400 50% | 37.5% | 12.6%
B 4375 40% | 36% | 24%
C 2625 24% | b56% | 20%
D 6000 3b% | 2h% 40%
E 4250 38% | 30% 32%
F 1360 45% | 40% 15%

The total number of transgenders working mn all the six universities 1s approximately
5 of the total number of females working in all the six universities

7t T= Tavataa=al 8 T gEs $l T #@ea 9491 97 gt § FE miEers i e o

T AT R Wiaerd (%) 2
[Question ID = 10278][Question Description = 105_00_General_29_0CT22_Q05]
1. 80

[Option ID = 11109]
2. g2

[Option ID = 11110]
3. 75

[Option ID = 11111]
4, a3

[Option ID = 11112]
Topic:- 11_GP_SH1_S1_B

1
) Which one of the following developmental areas of individual differences will be affected, if a

child does not want to play with other children as he/she feels shy?

Ifa 1 =y 599 B F °4 994 wHie = F FE 951 Serar e, A1, Sahes fafiemed w etate
I —H] T TSR HIeae & WETEe B Y



[Question ID = 10279][Question Description = 106_00_General_29_0CT22_Q06]
1. Physieal development

[Option ID = 11113]

2. Emotional development
[Option ID = 11114]

3. Social development

[Option ID = 11115]
4. Language development

[Option ID = 11116]

2) In online mode of teaching a teacher added the reading materital (Word-DOC. PPTs.
E-content ete) on e-platform. Which option the students would chooze?

e F drEEs wEn (W) 3w Tew wwwE § usd A9 (53, 9, e (HTET)
seqTi2 ) 1 SiHe A 8| A 7 8 e e e == e

[Question ID = 10280][Question Description = 107_00_General_29_0CT22_Q07]
1. Mind mapping tools

ofeqer o () wa
[Option ID = 11117]
2. Inventory control system

r | i S [
DG EIREEE RN FHh
[Option ID = 11118]
3. Learning management system
115 =l e e e |
[Option ID = 11119]
4. Assessment tools
TETEA AT

[Option ID = 11120]

3) Given below are two statements :

Statement 1 : In MOOCs the word Massive' means that there can be huge number of
learners who can enroll for the course,

Statement I1 : MOOC 1involves the use of ICT to make education accessible to students
located in remote areas or who are unable to reach conventional classrooms:

In the Light of the above statements. choose the most appropriate answer from the options
given below :



B i o R i L

w9 1

e 10

‘TF 0 v o A A 7 2 1%t afem w9 oem w o 2o

UIE#E & fen TR 7 A 8

T AT T A T 3 e % e g s v HT § 1 9 & ¥ e
7 WU A WIET FATH 7 UE9d 949 9E 7

TETF FYF F AT 9, 99 B e 8 8 e 39T I #1999 A0a

[Question ID = 10281][Question Description = 108_00_General_29_0CT22_Q08]
- Both Statement I and Statement II are correct

Fo L Aw ILZ9T 991

[Option ID = 11121]

2.

Both Statement I and Statement IT are incorrect

Fua [ 47 29 T 7

[Option ID = 11122]
3. Statement I is correct but Statement IT 1= incorrect

Fu7 1971 2, AfFT %979 I 2

[Option ID = 11123]
4. Statement] is incorrect but Statement IT 1s correct

Tt I e 7. =i weae M =e 7

[Option ID = 11124]

4 Match List T with List IT :
TistI
(Factors of memory)
{A) Remembering I
{B) Retention (II)
(C) Recall {IIT)
(D) Recognition (Iv)

List I1

(Meaning)

The mental revival of the experiences
which have been learnt

The manifestation of our general
retaining power

The factor responsible for preserving
the material learnt

The factor responsible for modification
of behaviour through training and

learning

Choose the correct answer from the options given below :



-1 = =mer F1 gEI-I0 f5am Fifae

CELS! Lt

(T F T (317er)
(A) = F (D) HiE T S SR AE S T
(B) wiagmm (I) 9 HEFE THgRm w4 #H1 T E
(C) T3 (IIT) #dt 75 913 AWl & @E 70 FweE

ESEE

(D) = (IV) ufzrzm vs i & o159 9 =59eR UiEds
“m feu v foem 3 T 350 9 99T Fiae

[Question ID = 10282][Question Description = 109_00_General_29_0CT22_Q09]
- (A)-dID. (B)-(D). (C)-(IV). (D)-ID
[Option ID = 11125]
2. (A)-(IV), (B)-(I). (C)-(1T}), (D)-(III)
[Option ID = 11126]
3. (AMIV), (B)-(IID). (O)-(T). (D)-(IT)

[Option ID = 11127]
4. (A)-D). (B)-(IV), (C)-(ID). (D)-(IID)

[Option ID = 11128]

5) A child who feels it difficult to do a task alone, is able to do it better with the help of more
skilled peers and adults. It is termed as:

U Sl Al FS [HH wE F] WA H FeAE GRgH A 7, 97 5H AlE T aewiadl 1d a5 o
wEE O W=3T E W W4 6 O&Y 2) 28 3\ =y 4 wiafey 9

[Question ID = 10283][Question Description = 110_00_General_29_0CT22_Q10]
1. Accommodation

TH

[Option ID = 11129]

2.  Zome of proximal development

T fawm w a

[Option ID = 11130]
3. Assimilation

[Option ID = 11131]
4. Eguilibrium

T

[Option ID = 11132]

6) ‘The domain of application in thematic analysis is



FefatEs § 9 Fi-m fangens [Gveme ¥ S & &9 3 7

[Question ID = 10284][Question Description = 111_00_General_29_0CT22_Q11]

. Group comparison

[Option ID = 11133]

IDhiscourse revision
[Option ID = 11134]
3. Text integration
T3 THFA
[Option ID = 11135]
4. Visual aesthetics

[Option ID = 11136]
7) In participant observation. the résearcher has toactas a

et UHm § el R emeies | ° a9 w5 e e v

[Question ID = 10285][Question Description = 112_00_General_29_0CT22_Q12]
1.

Professional organiser

[Option ID = 11137]

2. Professional stranger
[Option ID = 11138]

3. Professional publicist
[Option ID = 11139]

4. Cultural agent

[Option ID = 11140]

8) Which of the following are excluded in seientific research?

(A4) Empiricism

(B) Remaoval of errors

(C) Subjectivity

(D) Unethical practices

(E)  Non-predictive inferences

Choose the correct answer from the optiuns given below ;



FtEtEs 9 9 FH-9 SE 79 9 iga 98 B
(A) IR

B T A g

(C)  =afwEE

(D) FfFF ==

(B)  T-wiasgems S

#i= f3u 7o foeel § O O 39 W 99 S0

[Question ID = 10286][Question Description = 113_00_General_29_0CT22_Q13]
' (A). (B). (C) only

F97 (A), (B), (C)

[Option ID = 11141]
2. (B). (). (D) only

== (B), (C), (D)

[Option ID = 11142]
3. (C). (D), (E) only

3= (C), (D). (E)

[Option ID = 11143]
4. (A). (C). (E) only

F44 (A). (©). (E)

[Option ID = 11144]

9) What are the limitations of employing online focus groups?

(A) Easy access to conference sites can be set up.

(B) E-mail interviews with people in different time zones will be extremely participatory.
() Drop outs may affect the data quality.

(D) The approach 1s confined to the people who are willing to participate.

(E) External influences on participants can be found.

Choose the correct answer from the options given below :

(A)  UH TEEE FE IO S #G E e TaaAl 3 A

(B) Toiu= Awa-&=1 (7158 94) A =01 % 30 & H15A9 § SAET Seaas BRG] 99 wR)

(C) M- #3528 ATSs! I TUEA F THIEH F A6 7l
(D) == =97F" U0 =00 A WG B A mEG 9 =9 2l

(E) T=9iE] W =me U9 2 S =594 B

4= f2u T fawem 9 1 A 5 W == Hiew

[Question ID = 10287][Question Description = 114_00_General_29_0CT22_Q14]
1. (A), (B), (O) only



45 (A), (B). (C)

[Option ID = 11145]
2. (B). (C). (D) only

a4 (B). (C). (D)

[Option ID = 11146]
3. (A). (B). (D) only

T+ (A). (B). (D)

[Option ID = 11147]
4. (C). (D). (E) only

Fa4 (C). (D). (E)

[Option ID = 11148]

10) Given below are two statements :

Statement I: A 1igid application of ethical principles 1s not possible In ethnographic
research.
Statement IT:  The principle of informed consent is theoretical, as pre-information is hikely

to affect the research findings.
In the hight of the above statements, choose the correct answer from the options given below :

FW L JEWE WG A AAE WA A SEe a9F w5 e

F I FFFE O AEntd @ g Ggieas 2, JE [E-aEEE 3 g F e F T 7 A
A 7

S FUA F A . A9 20 T e § H AeH 30 I #9599 Aian

[Question ID = 10288][Question Description = 115_00_General_29_0CT22_Q15]
1. Both Statement I and Statement IT are true

FuF [ 47 [l =+ 53 7

[Option ID = 11149]
2. Both Statement I and Statement IT are false

T 1390 11 2@ 99 7

[Option ID = 11150]
3. Statement I is true but Statement IT i=s false

Fu9 1907 7, W e I 5360 7

[Option ID = 11151]
4. Statement I is falze but Statement II is true

Fu7 [ 2790 7, @ites w41 Lo 7

[Option ID = 11152]

11)  Classroom communication is often referred to as ———— communication



T TEET F] A — W TR S

[Question ID = 10289][Question Description = 116_00_General_29_0CT22_Q16]
1. Indirect

T

[Option ID = 11153]
2. Non-contiguous

[Option ID = 11154]
3. Contiguous

I

[Option ID = 11155]
4. Amorphous

i~

TR

[Option ID = 11156]

12) When a communicated message is based on reference to another, it is called

[Question ID = 10290][Question Description = 117_00_General_29_0CT22_Q17]

1. Meta message

[Option ID = 11157]
2. Sourced message

T B fomr T @
[Option ID = 11158]
3. Referential message
[Option ID = 11159]
4. Ancillary message

[Option ID = 11160]

13)  Non-verbal communication is mostly
(A) Descriptive
(B) Apgeressive
(C) Inveluntary
(D) Contextual
(E) Symbolic

Choose the most appropriate answer from the options given below ;



SoTieaE FEAT9 HgET T R
(A)  TUHTHT

(B) AT

oy ===
(D) HEE
(E) =

+m= 5w e 8 @ weE ST 3 R =9 A

[Question ID = 10291][Question Description = 118_00_General_29_0CT22_Q18]
- (A). (B). (O) only

a4 (A). (B). (C)
[Option ID = 11161]

2. (B). (C). (D) only

Fa4 (B), (C), (D)
[Option ID = 11162]

3. (A). (D). (E) only

Fa+1 (A), (D). (B)
[Option ID = 11163]

4. (), (D). (E) only

9 (C), (D). (E)

[Option ID = 11164]

14)  Which of the following are true of communication?

(A) Communication is inevitable,
(B) Communication 1s non-social.
(C) Communieation 18 Irreversible.
(D) Communmnieation 1z cultural,

{E) Communication is completely commercial.
Choose the most appropriate answer from the options given below :
s 7 8 FF-0 gomm F A969g 0 75 A 7
(A)  wEmT A9TEE R
(B)  #FW T AESE B
(C) wrmm safaadd 7
(D)  =Fmm A A
(B)  =vigm gf iz anreas 2|
i o T e § | weE ST S0t #1954 i

[Question ID = 10292][Question Description = 119_00_General_29_0CT22_Q19]
1. (A) (B). (C) only



Fa= (A). (B). (O

[Option ID = 11165]
2. (A), (C), (D) only

Fae (A), (C), (D)

[Option ID = 11166]
3. (A). (D). (E) only

Fad (A), (D), (E)

[Option ID = 11167]
4. (B), (C), (E) only

Fa4 (B). (C). (E)

[Option ID = 11168]
15) Given below are two statements :

Statement 1: Communicative language is used by people to get sympathy. ignore fellow-

travellers, placate or embarras enemies and comfort friends.

Statement IT : As a tool of communication. language suffers from emotional loadings.
polar words and fictitious concepts,

In the hight of the above statements, choose the correct answer from the options given below :

TR FFA ET T E

FoA L FFT EW HEAVIESE 9T F WA @R O FA, SRl F A e, A w92

Fy I TN F IgEW F By OGN YEATEE Ay, A9 I A7 wedHE aEanmen O 55

THIE

I A AT 5, A B EEen O W H5e) 3 5 =9 SR

[Question ID = 10293][Question Description = 120_00_General_29_0CT22_Q20]
. Both Statement I and Statement II are true

w97 [ a1 1291 o9

[Option ID = 11169]
2. PBoth Statement I and Statement II are false

Fue 147 ML 39 390 7

[Option ID = 11170]
3. BStatement I1s frue but Statement IT is false

w9 153 2, =i w99 11 959 2

[Option ID = 11171]



4. Statement I 1s false but Statement IT 1s true

w97 [ w@d 7, oiwd #g &g 7

[Option ID = 11172]
16) If A is 20% of C and B iz 25% of C, then what percent is A of B?

Iz A, C=1 20% 3 B. C&1 25% 7, A1 A. B3 e Waaid 7

[Question ID = 10294][Question Description = 121_00_General_29_0CT22_Q21]
1. B0%

[Option ID = 11173]
2 80%

[Option ID = 11174]
3. T0%

[Option ID = 11175]
4. B0%

[Option ID = 11176]

17) Three numbers are in the ratio of 3:5:7 and the sum of theze numbers is 975, Find the three

numbers
A W, 3:5:7 F FWA ¥ 2 #7 53 wemaAt # arT 975 #| #E w3 Fifan|

[Question ID = 10295][Question Description = 122_00_General_29_0CT22_Q22]
- 195, 315, 465

[Option ID = 11177]
2. 185.3356. 455

[Option ID = 11178]
3. 175, 345, 455

[Option ID = 11179]
4. 195, 325, 4565

[Option ID = 11180]

18) Find out the wrong number in the series given below

6. 18, 90, 630, 6930, 83160
ey & T g # e S S i

[Question ID = 10296][Question Description = 123_00_General_29_0CT22_Q23]
1. 83160

[Option ID = 11181]
2. 6930

[Option ID = 11182]
.40

[Option ID = 11183]
4. 830

[Option ID = 11184]



19)  Five years ago, the average age of A and B was 23 years. If today, average age of A, Band C
is 27 years. what will be the age of C after 5 years?

599 7, At B mm wm 28 A AR 39 AT BHER CH dFmm g 27 AL 5 ad

wr=Te C 1 g T 7 T

[Question ID = 10297][Question Description = 124_00_General_29_0CT22_Q24]
1. 30

[Option ID = 11185]
2. 98

[Option ID = 11186]

3 20

[Option ID = 11187]
4. 32

[Option ID = 11188]

20) A man walks 15 metres in the front and then 15 metres to his right. Then every time turning
to his left. the man walks 5 metres. 20 metres and 20 metres respectively. How far is the man
from the starting point?

A G=4 % SHF FA:S Ui, 20 Tz T 20 HiE 99 2| 3 98 S 90 THiaE 24§ S o
WY
[Question ID = 10298][Question Description = 125_00_General_29_0CT22_Q25]
1. 15 metres
15 97
[Option ID = 11189]
2. b metres
5 H=
[Option ID = 11190]
3. 20 metres
20 Hiz
[Option ID = 11191]
4. 10 metres

10 97

[Option ID = 11192]



21) Which of the following propositions are logically equivalent to ‘No women are dishonest
human heings’:

(A) No dishonest human beings are women
(B) All women are non-dishonest human beings

(C) No women are non-dishonest human beings

(D) All non-women are non-dishonest
Choose the correct answer from the options given below :
a5 & FF @ wlamier o e 8w o g wEEE g T A E F mEE £

(A)  FE H7 wEET 999 5 TE 2

(B) @4l qfF=m T-wEaE 99 7

(C) =3 i afee M—=s9M 7= A4 2

(D) = =g W-wEAE 2

[Question ID = 10299][Question Description = 126_00_General_29_0CT22_Q26]
- (A) and (B) only
Fa (A) =7 (B)
[Option ID = 11193]
2. {(C)and (D) only
Fae1 (C) =1 (D)

[Option ID = 11194]
3. (A) and (C) only

Fa4 (A) 77 (O)

[Option ID = 11195]
4 (A). (B) and (C) only

Fa4 (A), (B) A7 (0)

[Option ID = 11196]

22) “Human beings are animals because as homo sapiens we all evolved thousands of years ago™
Which informal fallacy is committed in the above argument?

T T F A 58 A=A A T AEe (R A0EE) F w9 A G 5
T4 I § FA-T1 FATENE aFad 2 7

[Question ID = 10300][Question Description = 127_00_General_29_0CT22_Q27]

1. Fallacy of composition and division



[Option ID = 11197]

2. Fallacy of accident

Fufy 75 2m

[Option ID = 11198]

3. False cause

T T

[Option ID = 11199]

4. Red hernng

1.

= F

[Option ID = 11200]

23) Given below are two statements :

Statement I : If a deductive argument is valid and its premises are true, we say that the
argument 1s sound,
Statement IT : If an inductive argument 1s strong and its premises are true. we say that it
1s cogent

In the light of the above statements, choose the correct answer from the options given below :
i &1 % e E
Fa l: TR TEaTEE o 29 7 AW 0% EE T OY R, 79 Fad | O a6 o B
Fya [1:  =ic Uitg 7% 99 7 A7 3699 sa0-9949 §0d 2, 59 F2d 2 % 9% #3Fe 2)
SUINE FUA F A B, A [0 0 faEeT 8§ @ 768 390 I B 997 A

[Question ID = 10301][Question Description = 128_00_General_29_0CT22_Q28]
Both Statement I and Statement I1 are true

FuF I A0 [ 5 &2 7

[Option ID = 11201]

2. Both Statement I and Statement IT are false

o 1 97 I =/ 7o 7

[Option ID = 11202]

3. Statement I is true but Statement II is falze

Fum 1577 B, w7 =g I 59 7

[Option ID = 11203]

4. Statement I is false but Statement IT 1s true

a5 I 55977 7, =i w9 O aea 7

[Option ID = 11204]



24) Which of the following steéps of inference as per classical Indian school of logic involve
application of the universal concomitance to the particular present case

(&)
(B)
(&)
D)
(E)

Socrates 1= mortal

Because he 1s a man

Whoever 1s a man is a mortal e.g. Pythagoras
Socrates 1s a man who is invariably a mortal
Therefore Socrates is mortal

Choose the correct answer from the options given below :

T R A GEAT HA o STEE A ed 5§ F e =0/ 5 e A T 5 96 q5ae

(A
(B)
(€
(D)
(E)

1 9 2, 9 Ao § AR -UEAEA
TFA 599 2 A JHaEa: o 2

4 fau v fRedt B F WA 2 A =9 R

[Question ID = 10302][Question Description = 129_00_General_29_0CT22_Q29]
1. (A). (B) and (E) only

F= (A). (B) 577 (E)

[Option ID = 11205]
2. (C)and (D) only

F=# (C) w7 (D)

[Option ID = 11206]
3. (B) and (D) only

== (B) #1170 (D)

[Option ID = 11207]
4. (D) only

Fa= (D)

[Option ID = 11208]

25)

Given below are two statements :

Statement I : Verbal form is an integral part of the inference according to classical Indian

school of logic.

Statement IT : Classical Indian school of logic distinguishes between induction and

deduction as separate inferential processes.

In the light of the above statements. choose the most appropriate answer from the options
given below :



= 91w fRu T E

FF [ :  FEEEE F A GUAE B F SO0 e B9 SEEE F araa 9 2|

Fgq IL: 7 Twd] S GEAE O 99F S99 T ® =1 0 AP S0 FE a0 99 Fa w2l
S YA T AT |, A 5w fagen 5 1 mes 30T I 99 fian

[Question ID = 10303][Question Description = 130_00_General_29_0CT22_Q30]
. Both Statement I and Statement IT ave correct

T [0 I =M 921 7

[Option ID = 11209]
2. Both Statement I and Statement IT are incorrvect

Fo7 [ 7 1291 T4 7
[Option ID = 11210]
3. Statement I is correct but Statement 1T iz incorrect
F9= I8 2., @fed =2 [T 7o =
[Option ID = 11211]
4. Btatement I 1s incorrect but Statement IT is carrect
F4 74 7, o e L& 7
[Option ID = 11212]

26) HDMI ports allow output (both audie and visual) from a computer to an HDMI-enabled
device. HDMI 15 an acronym for

HDMI w2 5 g & v HDMI-af==a 9 I # 9 (73 vd 399 21) i s3aia w=e #a
7| HDMI F=ieigs 5 # a1 aiam o/ 2 ¢

[Question ID = 10304][Question Description = 131_00_General_29_0CT22_Q31]
1. Highly -Digital multimedia Interface
[Option ID = 11213]
2. High-Definition Multimedia interface
B2 aedidii=ar 2050

[Option ID = 11214]
3. Highly-Digitized multimedia interface

EEHI-TSIA2I5sS ArdHITsd] S20Fd

[Option ID = 11215]
4. Haghly-Digital multimedia instruction

o I i s R e B e Rt 2

[Option ID = 11216]



27) An email message has been sent from A to B, C. D. E and F with the fields as shown below:

From : A
Ta : B
Ce : GD
Bee : E.F

Which one of the following statements is TRUE?

T 599 H2m AF B, C. D, E 31 Fol = w2 599 43 F 57 9 99

From : A

To y B

Ce : GC.D

Bee : E.F
Fretafas w5 T F T FgE TR 27

[Question ID = 10305][Question Description = 132_00_General_29_0CT22_Q32]
. F does not know that C was sent the message.

F5d 7¢a § w199 = 76 C =1 J537 537 750 o

[Option ID = 11217]
2. (C does not know that D was sent the meszage.

C=83 759 § #1477 = D = "85 5= 70 91

[Option ID = 11218]
3. E does not know that F was sent the message.

EsA 99 0 39 & 7 F o) Haur 990 7T 91

[Option ID = 11219]
4. D does not know that B was senf the messapge.

D=y 9e3 9 sfag 7 7 B 929 5= 70 a0l

[Option ID = 11220]

28)  Which of the following are micro-blogging platforms?

(A) Pinterest

(B) eBay

(C) Tumblr
(D) Instagram
(E)  Twatter

Choose the correct answer from the options given helow :



il ~

FETATEd 8 | AR -5 SR FA A 50

e

A fr==
B) =4 (eBay)

(C) TEETT
D) =W
(E) Tz

Fr fZu T TSEed B O TE I F 99T Fian

[Question ID = 10306][Question Description = 133_00_General_29_0CT22_Q33]
1. (D)and (E) only

Fae (D) E (E)

[Option ID = 11221]
2. (C). (D) and (E) only

A (C), (D) =7 (E)

[Option ID = 11222]
3. (A), (C), (D) and (E) only

49 (A). (). (D) =7 (E)

[Option ID = 11223]
4. (A). (B) and (C) only

A (A). (B) #1 (C)

[Option ID = 11224]

29) Match List T with List 11 :

TLastI ListII
(Question) (Value)
(A) What hexadecimal value is obtained | () 8

when the two hexadecimal digits C
and D are added together?

(B) What is the denary (base-10) value of (ITy 19
the binary number : 00100100

(C) Number of seconds to transfer a (IIT) 30
2 megabyte file over a 2 megabits per
second internet connection

(D) If 1 gigabyte = 2¥, then what is the avy 36
value of P?

Choose the correct answer from the options given below :



-1 F = 1 g-11 Toee Fifem

-1 11
(w7} ()

(A) ST IET aET AR CEnDF o oA (D 8
ST AW F AT FH A WS ATGET HF T
wrm?

(B) T wnar @w=m: 00100100 % =ofd® == | () 19
(=mam-10) T = ¥

(C) 2 Tme fF s 52097 99 W 2 gz | (1D 30
HEA F TAE T A S S

(D) 4=z 1mEmse = 27 . 31 P=1 59 01 707 (Iv) 36

¥ fzu o o 9 1 = o w1 999 e

[Question ID = 10307][Question Description = 134_00_General_29_0CT22_Q34]
1 (A)-AID). (B)-(IV). (C)-(T). D)-(ID)

[Option ID = 11225]
2. (AMID). (B)(IV). (O)-(D. (D)(IID)

[Option ID = 11226]
3. (A)-(IV), (B)-(IT), (C)-(Iy, (D)-(IIT)

[Option ID = 11227]
4 (A)-aD). (B)-(D. (C)-(IV). (D)-AID)
[Option ID = 11228]

30) Given below are two statements :

Statement I: A DVD or CD using the letter ‘R’ indicates that it i= Read only.

Statement IT : Web browsers are used to allow a user to gain access to the internet.

In the light of the above statements, choose the correct answer from the options given below :

4= =1 F95 fzom 2 .

FR1: RS A S S w9 9 5w = 2 F o e e g

FoF I1: =@ WS = T AT T 5e2 UFHH WH e o T R S R Y

IHEIF FYA F AR O, 99 7 e 9 A e I I #1999 S

[Question ID = 10308][Question Description = 135_00_General_29_0CT22_Q35]
1. Both Statement I and Statement IT are true

e [ 9w 1L 21 oed 7

[Option ID = 11229]



2. Both Statement I and Statement I1 are false

o 1 s L1 s 3
[Option ID = 11230]
3. Statement I 1s true but Statement IT 1s false
FoT 1903 7, | =7 M am= =
[Option ID = 11231]
4. Btatement I 1s false but Statement II 1= true
FaA [ 390 2, oA #aa [ o097

[Option ID = 11232]

31)  Which of the following are examples of secondary air pellutants?

(A) Sulphate

(B) Nitric Oxide (NO)

(Q) Photochemieal smog

(D) Peroxy Acetyl Nitrate (PAN)

(E) Polyeyclic Aromatic Hydrocarbons (PAH)

Choose the most appropriate answer from the options given below :

e O F (GAEE aiETs F s FA AR
&) T

{B) ATFleh 3EFEES (NO)

(C) TFW-TEAERF 99 (TR )

(D) T wfatzE e (PAN)

(B) TS e wasrrEg (PAH)
Fi= = o fare 8§ W HE 3 9 99T Fa

[Question ID = 10309][Question Description = 136_00_General_29_0CT22_Q36]
1. (A), (B), (C) and (D) only
FI5 (A), (B). (C) 7 (D)

[Option ID = 11233]
2. (). (D). and (E) only

Faet (C), (D), 317 (E)

[Option ID = 11234]
3. (B), (C) and (D) only

= (B). (C) 37 (D)

[Option ID = 11235]
4 (A). (C) and (D) only

Faw (A), (C) FF (D)

[Option ID = 11236]



32) Match List I with List IT :

List1 List 11
(Pollutants) (Health Effects)
(A) Carbon monoxide (CO) (I) Allergenic
(B) Nitrogen dioxide (NO3) (Il Carcinogenic
(C) Volatile Organic Compounds (VOCs) {IIT} Asphyxiant
(D) Ozone (0z) (IV) Blue baby-syndrome

Choose the correct answer from the options given below :

g=i-1F |1 1 g1 e i
i1 et
(5 (FEE-1E)
(A) FEETE FEEEES (CO) () TSR
(B) Am=gr=+ sEAmEEs (NO:) (Il) FoFr=
(C) FTorei= FEE= A (VOCs) () v
(D) FEE (03) (IV) == 7f1 fomoy s

4= 720 U T9eRet § O TR 30 1 = ShifEu

[Question ID = 10310][Question Description = 137_00_General_29_0CT22_Q37]
1 (A)-(IID). (B)-(IV), (C)-(ID), (D)-T)
[Option ID = 11237]
2. (A)(IID. (B)-(IV), (©)-(I). (D)-(IL)
[Option ID = 11238]
3. (AD. (B)-(IIL), (C)-(II). (D)-(IV)

[Option ID = 11239]
4. (A, (B)-(IV). (C)-(ID). (D)-(III)

[Option ID = 11240]

33)  Which of the following are common In both Millinium Development Goals (MDGs) and
Sustainable Development Goals (SDGs)?
(A) Zero hunger
(B) Life below water
{C) No poverty
(D)  Life on earth
(E) Gender equality

Choose the correct answer from the options given below :



sl famm wa(MDGs) st s fem @ (SDGs) 2 4, Fefetiad 4 @ #19 & swafs 77
(&) 7= gm (S )

(B) =emm H5EA

(C) At

(D) 9= W A

(B) = mamEa

4 T T TEd § # WA S A 98 e,

[Question ID = 10311][Question Description = 138_00_General_29_0CT22_Q38]
- (A), (B). and (C) only

Fa (A), (B), 577 (©)

[Option ID = 11241]
2. (B). (C). and (D) only

w1 (B). (C). #7 (D)

[Option ID = 11242]
3. (A). (D) and (E) only

Fae (A), (D) =7 (E)

[Option ID = 11243]
4 (A). (C) and (E) only

Fae (A), (0) 317 (E)

[Option ID = 11244]

34) @Given below are two statements :
Statement I : An increase in CO: 13 expected to enhance global plant growth.
Statement IT : Deforestation ean increase the biosphere’s capacity.
In the light of the above statements. choose the correct answer from the options given below :

da S wys Hemw

FH 1 FEASE dEEEs (CO2) § 3 3 3fvas 7=y 9 w5 F1 e w2
Fuq I : T Sfanss i @ 5 3fg =2 w21

IR FU F A °, 94 B o e § 4 g v 3w 99 i

[Question ID = 10312][Question Description = 139_00_General_29_0CT22_Q39]
1. Both Statement I and Statement IT are true

Tt L I3 7 7

[Option ID = 11245]



2.

Both Statement [ and Statement IT are false

Foq [ 47 1291 79 7
[Option ID = 11246]

Statement I is true but Statement II is false
Fa= 1981 7, #iend =97 170 &

[Option ID = 11247]

Statement I 1s false but Statement IT is true
Fu 1 7 7. oA w21 ILTR 7

[Option ID = 11248]

35) (@reen hydrogen is produced by electrolysis powered by

e —392a g7 309 UH TSS9 F (90 THl Heiaias 9 | Es g0 0 2 A ¢

[Question ID = 10313][Question Description = 140_00_General_29_0CT22_Q40]

1.

Energy from thermal power plant

TN e o = 2= B o M e

[Option ID = 11249]
Renewabhle sources of energy

AT = FHEE J5AT 3

[Option ID = 11250]

Nuclear energy
AR Tl F

[Option ID = 11251]
Lead battery

e w2 g

[Option ID = 11252]

36) Sectoral Skill Councils will be incubated by

[

1.

2.

3.

&7 T e T FETeeT ° | e g SgATEe Sl A ¢

Question ID = 10314][Question Description = 141_00_General_29_0CT22_Q41]
NITI Aayog
ity
[Option ID = 11253]
Indian Standards Couneil

[Option ID = 11254]
Union Department of Education



[Option ID = 11255]
4. National Skill Development Corporation

T FOE A A
[Option ID = 11256]

37) The national portal for trainers and assessors, an initiative by National Skill Development
Corporation is called

[Question ID = 10315][Question Description = 142_00_General_29_0CT22_Q42]
1. Walanda

T i =

[Option ID = 11257]
2. Takshashila

et

[Option ID = 11258]
3. Vikrama

[Option ID = 11259]
4. Patanjah

[Option ID = 11260]

38) Given below are two statements :

Statement I : The Radhakrishnan Commission recommended to standardise university
teaching in India.
Statement IT: The Radhakrmshnan Commission also suggested the establishment of an

All India University Examination Board.
In the hght of the above statements, choose the correct answer from the options given below :

FA L;  THEEE 9@ 3 AE A Evaaae S 1 aEaEa B S

F I:  THEFTR AER A UF AhEa e e e = s # 9 gwE

IR U F AR °, S G e fasea § W we SUgE I = A

[Question ID = 10316][Question Description = 143_00_General_29_0CT22_Q43]



1. Both Statement I and Statement II are true

[Option ID = 11261]

2. Both Statement I and Statement IT are false
Fom T 47 ILEFT 7efe 7
[Option ID = 11262]

3. Statement I is true but Statement IT is false

[Option ID = 11263]
4. Btatement I 1s false but Statement IT is true

F2 T [ 7= 7. o e L Ha 7

[Option ID = 11264]

39)  Which of the following are the ancient treatises on the science of medicine?
{A) Carak Samhita
(B) Sulva Satras
(C) Susruta Samhita
(D) Yoga Satras
Choose the most appropriate answer from the options given below :
eI H H A H A IR S H el 2 7

(A) =TF A

(B T
(C)  =gA Hizm
D) =

Hi= {20 T foFeq H H meE 39T I ) 99 i

[Question ID = 10317][Question Description = 144_00_General_29_0CT22_Q44]
1. (B)and (D) only

Fa5 (B) 37 (D)

[Option ID = 11265]
2. (B), (C) and (D) only

Faw (B), (C) #7 (D)

[Option ID = 11266]
3. (A) and (C) only

FAe (A) H1(C)

[Option ID = 11267]
4. (A), (B). (C) and (D)

(A). (B). (C) 7 (D)



40)

[Option ID = 11268]

Which of the following is an ancient treatise on mathematies?

TS 7 H = e AT W 5 B

[Question ID = 10318][Question Description = 145_00_General_29_0CT22_Q45]

1.

Nyaya Satras

L

[Option ID = 11269]

Samkhya Karika

[Option ID = 11270]

Samkhya pravacana satras

[Option ID = 11271]

éulva satras

[Option ID = 11272]

Topic:- 11_GP_SH1_S1_C

1)

Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It iz also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar system was supremely accurate to prediet locations of stars
and planets. Even now Newton's law of gravity is used to calculate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticians have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how likely we think something te be true. The evidence we gather should
mmfluence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we observe and
what we ought to believe. A formula. known as Bayes' rule allows you to calculate your
degree of belief or ecredence. This 1s after learning of some evidence that takes into account
what you believed before you saw the evidence. Bayes rule iz a unique and rational way to
update vour beliefs.



Frriferm e 1 Wi S U W 46 F 50 F 3 S0m

o = wr= SR F AT # P g W wEEa e R i S gm e
Taiae e 0 9 ST 39 ghEm B 1, 39 HEdl & Wi sEd sifas wATEl 9| a8 3 9E i sEeie
T HUT T AN FA F 0 W0 TS H WA S i M99l [WeEe 5O 97| TR 9 6 99 e

F T A9 F A I9E S UA 99 W U S 97 99 7% A9 F o T e A
L e £ om0 e e 1 VI e 1 o = e o e =1 e 2 o e M v £ M A S =T Ll

HmmﬁﬁmmﬁmaxnwmuTwuh—wmmhﬁmﬂ=:1Tm-rnrf"|=r'-mﬁaqfaﬁ
=1 7 #AT TOH TH W SR 9IS TR S 2 TR R e TR =i w0 Oen uee R e meEE B S
SV THA HIED W ATAA & 39 A9 T U@ TSA1 A0 W ) THA A 7EE Feae 39 2 ) g
9% UHE  =TE1 HF FHE BT F 05 AAF Had T T 5 60 59 Wi {9 S I = T
T FEA 7| AUE 99H 7 B0 0 WEiAd 99 0 S Al J1 favEd 1 @ w5 aiehen e 6 S 4
T B WET W IEA A U AR 9a F @94 3§ Fo0h WEd F A9 F U A 9En S e Al
SUH F AT Ol F e F44 % g i fSaeg ot i )

What is true in case of past thearies rejected by today's scientists?

ATFF FF1 g0 [9ae [HgE F1 s 0 A Fl 590 § FEned 9 3 7= a6 2 7

[Question ID = 10319][Question Description = 146_00_General_29_0CT22_Q46]

1.

2.

3.

4.

2)

Past thearies were untenable,

T Flern fagm AR %

[Option ID = 11273]

They were untested.

ST T FE T

[Option ID = 11274]

They were true in the context of testing them.

30 OEF WA F Hed 5 a6 4|

[Option ID = 11275]

They were rejected because of their inaccuracy.

T FEAT TR B F B0 Ien S A T |

[Option ID = 11276]

Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It i= also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar system was supremely aceurate to predict locations of stars
and planets. Even now Newton's law of gravity is used to calculate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticlans have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how lhkely we think something te be true. The evidence we gather should
influence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we observe and
what we ought to believe. A formula. known as Bayes' rule allows you to calculate your
degree of belief or credence. This i1s after learning of some evidence that takes into account
what you believed before you saw the evidence. Bayes' rule iz a unique and rational way to
update vour beliefs.



Fr=TRa e W 9ien ST UET 4. 46 H 50 % I aian|

o = wr= SR F AT # P g W wEEa e R i S gm e
Taiae e 0 9 ST 39 ghEm B 1, 39 HEdl & Wi sEd sifas wATEl 9| a8 3 9E i sEeie
T HUT T AN FA F 0 W0 TS H WA S i M99l [WeEe 5O 97| TR 9 6 99 e

F T A9 F A I9E S UA 99 W U S 97 99 7% A9 F o T e A
L e £ om0 e e 1 VI e 1 o = e o e =1 e 2 o e M v £ M A S =T Ll

HmmﬁﬁmmﬁmaxnwmuTwuh—wmmhﬁmﬂ=:1Tm-rnrf"|=r'-mﬁaqfaﬁ
=1 7 #AT TOH TH W SR 9IS TR S 2 TR R e TR =i w0 Oen uee R e meEE B S
SV THA HIED W ATAA & 39 A9 T U@ TSA1 A0 W ) THA A 7EE Feae 39 2 ) g
9% UHE  =TE1 HF FHE BT F 05 AAF Had T T 5 60 59 Wi {9 S I = T
T FEA 7| AUE 99H 7 B0 0 WEiAd 99 0 S Al J1 favEd 1 @ w5 aiehen e 6 S 4
T B WET W IEA A U AR 9a F @94 3§ Fo0h WEd F A9 F U A 9En S e Al
SUH F AT Ol F e F44 % g i fSaeg ot i )

The gravitational theory of Newton helped
A heArhuY [Hgig =
[Question ID = 10320][Question Description = 147_00_General_29_0CT22_Q47]
1. Man to go to the moon
T T 201 9% A5 O HeEd mel |
[Option ID = 11277]
2. Tolocate the stars and planets
B R Al R i R e oG i e

[Option ID = 11278]
3. To know the solar model

AR -TE9 F1 AR B WEEaT 6

[Option ID = 11279]
4. To understand the satellite designs

TqUE ] ATEE THEA 0 HEET e

[Option ID = 11280]

3) Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It iz also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar system was supremely acecurate to prediet locations of stars
and planets. Even now Newton's law of gravity is used to caleulate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticians have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how likely we think something to be true. The evidence we gather should
influence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we observe and
what we ought to believe. A formula. known as Bayes rule allows you to calculate your
degree of belief or credence. This is after learming of some evidence that takes into account
what you believed before you saw the evidence. Bayes rule iz a unique and rational way to

update yvour belefs.



Frriferm e 1 Wi S U W 46 F 50 F 3 S0m

o = wr= SR F AT # P g W wEEa e R i S gm e
Taiae e 0 9 ST 39 ghEm B 1, 39 HEdl & Wi sEd sifas wATEl 9| a8 3 9E i sEeie
T HUT T AN FA F 0 W0 TS H WA S i M99l [WeEe 5O 97| TR 9 6 99 e

F T A9 F A I9E S UA 99 W U S 97 99 7% A9 F o T e A
L e £ om0 e e 1 VI e 1 o = e o e =1 e 2 o e M v £ M A S =T Ll

HmmﬁﬁmmﬁmaxnwmuTwuh—wmmhﬁmﬂ=:1Tm-rnrf"|=r'-mﬁaqfaﬁ
=1 7 #AT TOH TH W SR 9IS TR S 2 TR R e TR =i w0 Oen uee R e meEE B S
SV THA HIED W ATAA & 39 A9 T U@ TSA1 A0 W ) THA A 7EE Feae 39 2 ) g
9% UHE  =TE1 HF FHE BT F 05 AAF Had T T 5 60 59 Wi {9 S I = T
T FEA 7| AUE 99H 7 B0 0 WEiAd 99 0 S Al J1 favEd 1 @ w5 aiehen e 6 S 4
T B WET W IEA A U AR 9a F @94 3§ Fo0h WEd F A9 F U A 9En S e Al
SUH F AT Ol F e F44 % g i fSaeg ot i )

The relationship between degrees of belief and truth is made possible by

TIEAT W W 99 & W Hed e 9 5 e 2 H59E s qe A o

[Question ID = 10321][Question Description = 148_00_General_29_0CT22_Q48]

1.

2.

3.

4.

4)

Actions initiated

[Option ID = 11281]
Confidence acquired

[Option ID = 11282]
Imagination of individuals

[Option ID = 11283]
Evidence available

39cTsy H1+

[Option ID = 11284]

Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It iz also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar system was supremely acecurate to prediet locations of stars
and planets. Even now Newton's law of gravity is used to caleulate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticians have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how likely we think something to be true. The evidence we gather should
mnfluence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we cbserve and
what we ought to believe. A formula. known as Bayes rule allows you to calculate your
degree of belief or credence. This is after learming of some evidence that takes into aceount
what you believed before you saw the evidence. Bayes rule iz a unigque and rational way to
update your behefs.



Frriferm e 1 Wi S U W 46 F 50 F 3 S0m

o = wr= SR F AT # P g W wEEa e R i S gm e
Taiae e 0 9 ST 39 ghEm B 1, 39 HEdl & Wi sEd sifas wATEl 9| a8 3 9E i sEeie
T HUT T AN FA F 0 W0 TS H WA S i M99l [WeEe 5O 97| TR 9 6 99 e

F T A9 F A I9E S UA 99 W U S 97 99 7% A9 F o T e A
L e £ om0 e e 1 VI e 1 o = e o e =1 e 2 o e M v £ M A S =T Ll

HmmﬁﬁmmﬁmaxnwmuTwuh—wmmhﬁmﬂ=:1Tm-rnrf"|=r'-mﬁaqfaﬁ
=1 7 #AT TOH TH W SR 9IS TR S 2 TR R e TR =i w0 Oen uee R e meEE B S
SV THA HIED W ATAA & 39 A9 T U@ TSA1 A0 W ) THA A 7EE Feae 39 2 ) g
9% UHE  =TE1 HF FHE BT F 05 AAF Had T T 5 60 59 Wi {9 S I = T
T FEA 7| AUE 99H 7 B0 0 WEiAd 99 0 S Al J1 favEd 1 @ w5 aiehen e 6 S 4
T B WET W IEA A U AR 9a F @94 3§ Fo0h WEd F A9 F U A 9En S e Al
SUH F AT Ol F e F44 % g i fSaeg ot i )

Bayes' rule can be used to calculate the relationship between
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[Question ID = 10322][Question Description = 149_00_General_29_0CT22_Q49]

1.

2.

3.

Past and present theories.

[Option ID = 11285]

Observation and belief

AFATEA (T ST T

[Option ID = 11286]

Rationality and uniqueness

[Option ID = 11287]

4. Credence and dishelhief

5)

[Option ID = 11288]

Read the passage and answer guestions:

On reflection scientists have rejected many past theories. It iz also true that those theories
were highly effective within the contexts that they had been developed and tested. The old
earth-centred model of the solar sy=tem was supremely acecurate to prediet locations of stars
and planets. Even now Newton's law of gravity is used to caleulate satellite trajectories and
go to the moon. Beliefs are made on the basis of evidence on hand. Philosophers and
statisticians have over a period time, developed thinking ways about the relationship
between belief. action. and evidence that captures this pragmatism, Beliefs come in degrees
and measure how likely we think something te be true. The evidence we gather should
mmfluence these degrees of belief. The character of evidence makes us confident. We can use a
branch of probability theory to map out a precise relationship between what we observe and
what we ought to believe. A formula. known as Bayes rule allows you to calculate your
degree of belief or credence. This is after learming of some evidence that takes into account
what you believed before you saw the evidence. Bayes rule iz a unique and rational way to
update vour beliefs.
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The main theme of the passage is
5 AT T HEE 99 R

[Question ID = 10323][Question Description = 150_00_General_29_0CT22_Q50]
1. Changing nature of beliefs

AT S T § qhE

[Option ID = 11289]
2. Tmportance of the theory of Newton
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[Option ID = 11290]
3. Mapping of probability theory

[Option ID = 11291]
4. Centrality of human confidence in updating truth
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[Option ID = 11292]




